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1. If	 principal	 is	 ₹10000.00,	 ROI	 is	 10.00%	 p.a.,	 no	 of	 year(s)	 is	 2	 and	 interest	 type	 is	 simple	 interest	 computed
annually,	then	interest	is
(i) ₹2002.00 (ii) ₹1999.00 (iii) ₹1998.00 (iv) ₹2000.00 (v) ₹2001.00

2. If	 principal	 is	 ₹7000.00,	 ROI	 is	 8.00%	 p.a.,	 no	 of	 year(s)	 is	 3	 and	 interest	 type	 is	 simple	 interest	 computed
annually,	then	amount	is
(i) ₹8681.00 (ii) ₹8678.00 (iii) ₹8682.00 (iv) ₹8680.00 (v) ₹8679.00

3. If	 principal	 is	 ₹7000.00,	ROI	 is	 2.00%	p.a.,	 no	of	 year(s)	 is	 2	and	 interest	 type	 is	 compound	 interest	 computed
annually,	then	interest	is
(i) ₹283.80 (ii) ₹280.80 (iii) ₹284.80 (iv) ₹281.80 (v) ₹282.80

4. If	 principal	 is	 ₹5000.00,	ROI	 is	 9.00%	p.a.,	 no	of	 year(s)	 is	 2	and	 interest	 type	 is	 compound	 interest	 computed
annually,	then	amount	is
(i) ₹5938.50 (ii) ₹5939.50 (iii) ₹5942.50 (iv) ₹5940.50 (v) ₹5941.50

5. If	principal	is	₹20000.00,	no	of	year(s)	is	3	and	accumulated	simple	interest	computed	annually	is	₹6000.00,	then
ROI	per	annum	is
(i) 12.00% (ii) 10.00% (iii) 9.00% (iv) 8.00% (v) 11.00%

6. If	principal	is	₹18000.00,	no	of	year(s)	is	5	and	accumulated	compound	interest	computed	annually	is	₹1873.45,
then	ROI	per	annum	is
(i) 1.00% (ii) 4.00% (iii) 2.00% (iv) 0.00% (v) 3.00%

7. If	the	simple	interest	on	a	certain	principal	is	₹480.00	for	2	year(s)	at	ROI	2.00%	p.a.	computed	annually,	then	the
compound	interest	for	the	same	principal,	terms	and	ROI	=
(i) ₹483.80 (ii) ₹486.80 (iii) ₹485.80 (iv) ₹482.80 (v) ₹484.80

8. Calculate	the	amount	on₹6000.00for4years1months
at10.00%	p.a.compoundedannually
(i) ₹8857.81 (ii) ₹8859.81 (iii) ₹8856.81 (iv) ₹8855.81 (v) ₹8858.81

9. Calculate	the	amount	on₹11000.00for years

at8.00%	p.a.compoundedannually

4 1
3

(i) ₹15362.46 (ii) ₹15365.46 (iii) ₹15364.46 (iv) ₹15366.46 (v) ₹15363.46

10. Find	simple	interest,	if	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum

(i)
P	+	T	+	R

100
(ii)

PT
100	+	R

(iii)
PTR
100

(iv)
100
PTR



11. Given	SI	=	simple	interest,	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum,	find	simple	interest

(i)
PTR
100

(ii)
100	x	SI

P	x	T
(iii)

100	x	SI
P	x	R

(iv)
100	x	SI

R	x	T

12. Given	SI	=	simple	interest,	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum,	find	principal

(i)
100	x	SI

P	x	T
(ii)

100	x	SI
P	x	R

(iii)
100	x	SI

R	x	T
(iv)

PTR
100

13. Given	SI	=	simple	interest,	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum,	find	rate

(i)
PTR
100

(ii)
100	x	SI

R	x	T
(iii)

100	x	SI
P	x	R

(iv)
100	x	SI

P	x	T

14. Given	SI	=	simple	interest,	P	=	principal,	T	=	time,	R	=	rate	percent	per	annum,	find	terms

(i)
100	x	SI

P	x	T
(ii)

100	x	SI
R	x	T

(iii)
PTR
100

(iv)
100	x	SI

P	x	R

15. If	P	=	Principal,	n	=	no	of	terms,	R	=	rate	of	interest,	formula	for	amount	at	compound	interest	is

(i)
n

P[1+100
P ] (ii)

n
P[1+ R

100] (iii)
n

P[1+ PR
100] (iv)

n
P[1+100

PR ] (v)
n

P[1− R
100]

16. If	ROI	 is	 7.00%	p.a.,	 no	of	 year(s)	 is	 5	and	accumulated	 simple	 interest	 is	 ₹3850.00	 computed	annually,	 then
principal	is
(i) ₹10998.00 (ii) ₹10999.00 (iii) ₹11001.00 (iv) ₹11002.00 (v) ₹11000.00

17. If	ROI	 is	 4.00%	p.a.,	 no	of	 year(s)	 is	 3	and	accumulated	 simple	 interest	 is	 ₹1080.00	 computed	annually,	 then
amount	is
(i) ₹10080.00 (ii) ₹10082.00 (iii) ₹10081.00 (iv) ₹10078.00 (v) ₹10079.00

18. If	ROI	is	8.00%	p.a.,	no	of	year(s)	is	5	and	accumulated	compound	interest	is	₹2815.97	computed	annually,	then
principal	is
(i) ₹6002.00 (ii) ₹6000.00 (iii) ₹5998.00 (iv) ₹6001.00 (v) ₹5999.00

19. If	ROI	is	10.00%	p.a.,	no	of	year(s)	is	4	and	accumulated	compound	interest	is	₹7425.60	computed	annually,	then
amount	is
(i) ₹23424.60 (ii) ₹23425.60 (iii) ₹23423.60 (iv) ₹23426.60 (v) ₹23427.60

20. If	principal	is	₹7000.00,	no	of	year(s)	is	4	and	accumulated	compound	interest	computed	annually	is	₹2523.42,
then	amount	is
(i) ₹9523.42 (ii) ₹9525.42 (iii) ₹9521.42 (iv) ₹9522.42 (v) ₹9524.42

21. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹11449.00	 for	 2	 year(s)	 at	 an	 ROI	 of	 7.00%	 p.a.
computed	annually,	then	principal	is
(i) ₹9998.00 (ii) ₹10002.00 (iii) ₹10001.00 (iv) ₹10000.00 (v) ₹9999.00

22. If	 the	 compound	 interest	 amount	 for	 a	 certain	 principal	 is	 ₹12044.03	 for	 5	 year(s)	 at	 an	 ROI	 of	 6.00%	 p.a.
computed	annually,	then	interest	is
(i) ₹3045.03 (ii) ₹3046.03 (iii) ₹3043.03 (iv) ₹3044.03 (v) ₹3042.03



23. If	the	difference	of	compound	and	simple	interest	on	a	certain	principal	is	₹945.93	for	ROI	7.00%	p.a.	and	no	of
year(s)	5	computed	annually,	then	the	principal	=
(i) ₹18001.00 (ii) ₹18000.00 (iii) ₹18002.00 (iv) ₹17998.00 (v) ₹17999.00

24. A	man	borrows	a	₹10000.00	at	7.00%	p.a.	compounded	annually.	 If	he	repays	₹2675.00	at	the	end	of	year	1	,
₹2146.69	at	the	end	of	year	2	,	how	much	loan	is	outstanding	against	him	at	the	beginning	of	the	year	3.
(i) ₹6440.06 (ii) ₹6439.06 (iii) ₹6442.06 (iv) ₹6438.06 (v) ₹6441.06
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